


-11




L=355.3m

W=2.09 6.57m

ASC t=5cm) A=1790m2

( M- 30)

A=1790m2

(02)

(02)




0-0001

0001

0002

0003

0004

0005

23

1,790

W>3.0m

640

W 3. O0m

t=3cm

M- 30

t=5cm

As(13)

15cm

W

15cm

W

45¢cm

W




0-0002

0006

0007

0008

0009

0010

0011

0012

0013

0014

39

33

90

90

90

0.04

160

15

15

15

W>3.0m

15




0-0003

0015

0016

0017

0018

0019




0-0004




0-0005

0001

0-0001

0002

0-0002

0003

0-0003

YOIl 24211437

Y01 3320043T




0-0006

0004

0-0004

0005

0-0005

0006

0-0006

Y01 3320043T

YOIl 3320043T

Y01 3320043T




0-0007

0007

0-0007

0008

0-0008

0009

0-0009

Y01 3320043T

YOHO0921DAGE

YOH0921DAG6G




0-0008

0010

0-0010

0011

0-0011

0-0012

0012

0-0013

)

YOHO092HOAOQOK

15cm

2m

1m

2HOAOK

2t




0-0009

0013

0014

0015

P

1

YOHO092HOAOL

As

YOHO092HOAOL




0-0010

0016

0017

0018

0-0015

Y91 36221001




00011

0019

0-0016

Y9136221001




0-0012

SzZDO0O1

29

mm

34 mm

0-0001

MC219

MC230

KQ615

R9B131

R9B0O1

R9BO11

R9B241

(30-0)

T9A121

TSX24

EPOO1

mTmoOw >

=2

1
(62}

=l

29 mm

34

mm
(30-0)




0-0013

SzZD023

3. 0m

0-0002

KQ6 87

KQ615

KQ510

EKO0O09

R9BO11

R9B0O1

R9B131

R9B241

ERO0O09

(13)(20)

TG146

TG402

TSX24




0-0014

EZ009

EPOO1

1 ( mm) =

1

2.

3.0m
( mm)
35t/ m3
(13)
PK- 3

ST IMmMoOOW>




0-0015

0-0003
5G301 1,0[00
RRO79
1,0/00.00Q0
TF949
5(70.00Q0
TF967
25.0Q0
TF971
25.0Q0
TSX24
#09
1,0/00
1
A =1
B =1
D =1
F =1
G =1
H =1
| =1
J =2
K -
L =1

o=




0-0016

0-0004
SG301 1,0/00
RRO79
1,000.000
TF951
570.0Q0
TF967
25.0Q0
TF971
25.0Q0
TSX24
#09
1,000
1
A =1
B =1
D =2
F =1
G =1
H =1
| =1
J =2
K r
L =1

o=




00017

0-0005
SG301 1,000
RR145
1,000.000
TF949
1,700.000
TF967
75.0Q0
TF971
75.0Q0
TSX24
#09
1,000
1
A =1
B =19
D =1
F =1
G =1
I =1
| =1
J =2
K =
L =1

o=




0-0018

0-0006
5G301 1,0[00
RR151
1,2/00.00Q0
TF949
6(84.000
TF967
30.0Q0
TF971
30.0Q0
TSX24
#09
1,0/00
1
A =1
B =13
D =1
F =1
G =1
H =1
| =1
J =2
K -
L =1

o=




0-0019

0-0007
SG301 1,0/00
RR151
1,200.00Q00
TF951
684.000
TF967
30.0Q0
TF971
30.0Q0
TSX24
#09
1,000
1
A =1
B =13
D =2
F =1
G =1
H =1
| =1
J =2
K r
L =1

o=




0-0020

SzD321

15

c

0-0008

MC4 45

EKO0O09

R9B0O1

R9B241

R9BO11

ERO0O09

56 22

TSDOG6

TSX32

EZ0O09

EPOO1

mTmw >

15cm




0-0021

( ) ( )
SZD311
0-0009
1
KQO0O03
R9B241
R9B131
R9BO11
TSX24
EPOO1
A =1
B 1
C =1
D =1 15cm
F =1
G =1
H =1
SZA961
0-0010
( 15cm ) 1
MA405




0-0022

( )
R9B141
TSX24
EPOO1
A =3
B =3 15cm )
E =1
F =1
SZA125
0-0011
2m 1
MA192
RAO070
TSX24
EPOO1
A =1
B =3 1m 2m
C =1




0-0023

SZA105

0-0012

MA 405

RAO075

TSX24

EPOO1

DI

TMOO®>

DI D




0-0024

2 t 0-0013
SF070
SX120
0-0014
#99
C
D =1
0-0014
SX120
MA422
RAO075
TSX24
#99

mooOw>




0-0025

0-0015
SA063
RA227
#99
A P
0-0016
SA063
R9B442
#99

1A~




-0026

(0.

61.838.

5.

9)

F1000

m2

F1100

F1200




